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7 |EER 2 2E+5 220,000.0 3.1E+4 31,460.5 251,460.5
8 |ZWE 46E+2| 2.0E+4 20,460.1 20,460.1
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10 [HEE

11 |[BEE 2.7E+2 270.0 270.0
12 |FEER 7.0E-1| 6.0E-1 1.3 1.3
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14 |[#FIE 1.6E+0| 1.6E+3 1,616.6 1,616.6
15 |#RE 2 AE+0 2.4 2.5E+3 2,504.2 2.506.6
16 |SWE 2.0E+3 2,000.0 2,000.0
17 |BRINE

18 |[fEHE 1.5E+0 15 1.5E+1 15.0 16.5
19 |ILBE

20 |RHER 1.0E+3 1,000.0 1,000.0
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22 |EER

23 |BHIE 7.0E+0 7.0 40E-1| 2.5E+3 2,468.8 24758
24 |[ZEE 2.3E+2 230.0 2300
25 |HER 2.9E+1 29.0 29.0
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27 | KBRFF 6.8E+0| 6.3E+1 69.9 69.9
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33 |[EWLER 8.5E+2 850.0 850.0
34 |[LER
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& [F 1.5E+0) 2.2E+5 220.400.9 47E+2| 6.7E+4 67,299.4 287.700.3
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